More Gravity Questions


1. A distant planet, Moron, has a radius of 6.8x106 m.  A 70 kg person stands on a bathroom scale at the North Pole of this planet and the scale reads 714 N.
a. Find the acceleration due to gravity on Moron.

b. Find the mass of Moron.

2. Moron has a moon, Dodo, which is 5x108 from Moron. What acceleration does Dodo feel in Moron’s direction?
3. How far above Moron’s surface is g = 9.8 m/s2?
4. If Moron’s day lasts 30 hours, find the speed of someone standing on the equator.
5. What is g at the equator?
